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2. (3x+2)(2x-5) & AT Aoz F& A2?
@ 6x2-11x+10 @ 6x2-11x-7
@ 6x%2+11x-10 @ 6x%-16x-10

3 6x2-11x-10



150% - 149? = 150 + 149 & A@sh= ol Bak e 24
SU=Y

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a*-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+Db)

® acx® 4 (ad + be)x + bd = (ax + b)(cx + d)
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@ ab+1)+(b+1)=(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)>
@ X2+dx+4-y>=(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x—2y)

® (x-3)2+2(x-3)-8=(x+1)(x-6)
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® x+3

@ 2x-3

@D x-1

@ 2x+3



7. Oa deEe] el ol 8d T4 B AL=2H? (Ha>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



@ 4a-3 ® 4a+3

@D 2a+5

® 2a+4

@ 2a -3



B8 a1 30 § 1 2 ATl A4
A ), ©, ©= A=EE UEs A9
a’® +3a-2)(a® +3a+4)-27
=(-2)(t+4)-27T=*+2-0
=(+0O)(r-©)
(a +3a+ O)(a 2+3a—@))
® 35,5,7 @ 27,7,5 ® 27,5,7
® 35,7.5

@ 35,7,-5
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VI8 o &4 HES a, 2V5 ] AF

a® — b3 + a®b — ab?
a—-b

@D 13 ® 15

of g o2

3 18

@ 20

HFE2& b 2



® -2v3

@ 33
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